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BBA - 102 (N)
Time: Three Hours | [ Maximum Marks : 75
Note : Attempt All the sections as per directions.

Az : gt @uEl g1 & H

Section - A’
e - 'w’
(Very Short Answer Questions)
Note : Attempt all five questions. Each question carries
three marks. Very short answer is required not

exceeding 75 words. 5x3

PTO.
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3. The age of Ram and Kamal is in the ratio 5 : 7 and the
difference between two is 12 years. Find the age of
Ram and Kamal.

T 3 W A A H AU S : 7 79 W 2 AR
3 & g T FR
4. Find the value of *C_.

%C,, 3w faferd
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5 Differentiate y = €. log x
y = €. log x & HaFHA R
Section - 'B'
gug - 'W’

(Short Answer Questions) 2x7.5

(&g Talta weR)
Note : Attempt any two questions out of the following 3
questions. Each question carries 7.5 marks. Short
answers required not exceeding 200 words.
P 3 et R @ e % I AR
%A% ¥R 7.5 & F 41 aftrwaw 200 vl ¥ @Y
I fEE R

6. What are minors and cofactors?

7. The ratio between the angles of atriangleis2: 3 4,
Find each angle of the triangle.
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faeft g & @00 @1 A 2 2 3 4 R A 9AE &R
8 Find the compound interest on Rs. 10,000/- @10%

per annum for three years.
%.10,000.00 & 10 SfAvA W U7 & 3 af & FYRE=E

= fAfag |
Section - 'C’
guyg - ‘7’
{Detailed Answer Questions) 3x15
Note : Attempt any three questions out of the following
5 questions. Each question carries 15 marks.
Answer is required in detail.
Preafifan 5 el 3 @ Rl s et 5 e AR
¥l N¥ 15 3% @l &) faga I aifea &
9. (a) Ify=x>~-x*~16x + 16, then find its maxima
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(iy TR

and minima.

IR y = x® = 3% — 16x + 16 A FGaH ey afht 11. For any two sets A and B, show that :

=Aem oA e | @ P(ANB)=P(A)NPB)
(b) Evaluate |- f (3x-22dx (i) P(A) U PB) c P(ALB)
2 foredl @ V2w A 3tk B & fow R -
1= f: (3x-2)°dx 7 el () P(AnB)=P(A)P@B)

10. Find the compound intetest on Rs. 1,200 @ 8% (i) PA)PB) cPAVB)

annually for two years if the interest is calculated 12. Find the sum of the following geometric series :

(i}  annually () 2,6,18,...1t07terms
(i) half-yearly (i) 1,3,9,27....t05terms

(W) quarer Frveerfan T Aftral 1 4 Pt
% 1,200.00 & & of & 8% W U9 & fow FEe

; , i 26,18, ... 1071

() e
(iy & IR
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13. Solve by Gauss's elimination method the foliowing
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equations :
Bx+3y+2z=6
Bx+4y+3z=0
20x + 15y + 122 =0
Trefefias aft 3t i veffierm due & 5o A -
6x+3y+22=6
Bx+4y+3z=0

20!(+15y+122=0
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